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A materials researcher wishes to use the following sample curing-time data to
compare two methods for applying an adhesive;
Method A | 14 16 13 15 16 13 14 14 15 11
Method B| 8 9 12 6 7 7 10 5 14 10
Given that:
X,=141,X,=88,d=53,5,=15239 , 5, =2.7809 , s, =3.3682
a) How large a sample is required if we want to be 98% confident that our estimate of /g

is off by less than 0.957
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b) Construct a 98% CI for the difference between the two method means. Assume
normal populations with equal variances.
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¢) Construct a 98% CI for the variance of method B. State necessary assumptions.
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